
΢ΥΟΛΔΗΑ ΠΔ01 ΠΔ02 ΠΔ03 ΠΔ04.01 ΠΔ04.02 ΠΔ04.04 ΠΔ04.05 ΠΔ05 ΠΔ06 ΠΔ07 ΠΔ08 ΠΔ11 ΠΔ79.01 ΠΔ80 ΣΔΥΝ/ΓΗΑ ΠΔ86 ΠΔ82 ΠΔ83 ΠΔ84 ΠΔ87.01 ΠΔ87.02 ΠΔ88.01 ΠΔ88.02

1o ΓΤΜ. ΠΤΡΓΟΤ -1 -1* +1 -1*

2o ΓΤΜ. ΠΤΡΓΟΤ -1* -1* -1* -1

3o ΓΤΜ. ΠΤΡΓΟΤ -1 -1* -1* -1* -1*

4o ΓΤΜ. ΠΤΡΓΟΤ -1 -1 +1 -1* -1 -1* -1

Δ΢Π.ΠΤΡΓΟΤ -1*

1o ΓΔΛ ΠΤΡΓΟΤ +1

2o ΓΔΛ ΠΤΡΓΟΤ -1*

3o ΓΔΛ ΠΤΡΓΟΤ -1

4o ΓΔΛ ΠΤΡΓΟΤ -1* -1 +1

1o ΔΠΑΛ ΠΤΡΓΟΤ +1 -1 -1* -1*

2o ΔΠΑΛ ΠΤΡΓΟΤ -1 -1* -3 -2

1o ΓΤΜ. ΑΜΑΛΗΑΓΑ΢ -1*

2o ΓΤΜ. ΑΜΑΛΗΑΓΑ΢ -1 +1 -1* -1*

3o ΓΤΜ. ΑΜΑΛΗΑΓΑ΢ -1 -1* -1* -1 -1

Δ΢Π. ΑΜΑΛΗΑΓΑ΢ -1* -1*

1o ΓΔΛ ΑΜΑΛΗΑΓΑ΢ +1

2o ΓΔΛ ΑΜΑΛΗΑΓΑ΢ -1* -1 +1 +1

1o ΔΠΑΛ ΑΜΑΛΗΑΓΑ΢ -1 -1* +1 -1 -1

2o ΔΠΑΛ ΑΜΑΛΗΑΓΑ΢ +1 -1 -4 -1

ΓΤΜ. ΢ΑΒΑΛΗΩΝ

ΓΤΜ. ΥΑΒΑΡΗΟΤ

ΓΤΜ. ΑΝΓΡΑΒΗΓΑ΢ -1* -1* +1 +1

ΓΔΛ ΑΝΓΡΑΒΗΓΑ΢  -1* +1 -1 -1* -1*

ΓΤΜ. ΒΑΡΓΑ΢ +1 +1

ΓΔΛ ΒΑΡΓΑ΢ -2 +1 -1 -1*

ΓΤΜ. ΒΑΡΘΟΛΟΜΗΟΤ -1* +1 -1* -1*

ΓΔΛ ΒΑΡΘΟΛΟΜΗΟΤ -1  -1 -1 +1

ΜΟΤ΢ΗΚΟ ΒΑΡΘΟΛΟΜΗΟΤ

     -1                

-1* -1 -1*

ΓΤΜ. ΓΑ΢ΣΟΤΝΖ΢ -1 -1  -1 -1* -1*

ΓΔΛ ΓΑ΢ΣΟΤΝΖ΢ -1 -1* -1*

ΓΤΜ. ΛΔΥΑΗΝΩΝ -1 -1* -1* -1

ΓΔΛ ΛΔΥΑΗΝΩΝ -1

-1*

+1

-1*

+1

+1

-1*

-1*

-1



΢ΥΟΛΔΗΑ ΠΔ01 ΠΔ02 ΠΔ03 ΠΔ04.01 ΠΔ04.02 ΠΔ04.04 ΠΔ04.05 ΠΔ05 ΠΔ06 ΠΔ07 ΠΔ08 ΠΔ11 ΠΔ79.01 ΠΔ80 ΣΔΥΝ/ΓΗΑ ΠΔ86 ΠΔ82 ΠΔ83 ΠΔ84 ΠΔ87.01 ΠΔ87.02 ΠΔ88.01 ΠΔ88.02

1ο ΔΠΑΛ ΛΔΥΑΗΝΩΝ -1 -2 -1

ΓΤΜ. ΝΔΟΥΩΡΗΟΤ -1 -1*

ΓΤΜ. ΠΑΝΟΠΟΤΛΟΤ

ΓΤΜ. ΠΖΝΔΗΑ΢ +1

ΓΔΛ ΢ΗΜΟΠΟΤΛΟΤ

ΓΤΜ. ΣΡΑΓΑΝΟΤ -1*

ΓΤΜ. ΑΝΓΡΗΣ΢ΑΗΝΑ΢

ΓΔΛ ΑΝΓΡΗΣ΢ΑΗΝΑ΢ -1 -1 -1*

ΓΤΜ. ΑΡΥ. ΟΛΤΜΠΗΑ΢ -1* -1* -1* +1

ΓΤΜ. ΒΑ΢ΗΛΑΚΗΟΤ-ΛΣ -1 -1 -1

ΓΤΜ. ΒΟΤΝΑΡΓΟΤ -1*

ΓΔΛ ΒΟΤΝΑΡΓΟΤ -1

ΓΤΜ. ΓΟΤΜΔΡΟΤ -1* -1*

ΓΤΜ. ΔΠΗΣΑΛΗΟΤ -1*

ΓΤΜ. ΕΑΥΑΡΩ΢ -1* -1 -1* -1* -1*

ΓΔΛ ΕΑΥΑΡΩ΢ -1 -1 -1* -1*

Δ΢Π. ΓΔΛ ΕΑΥΑΡΩ΢ -2 -1

ΓΤΜ. ΚΑΛΛΗΘΔΑ΢-ΛΣ -3 -1   -1 -1* -1*

ΓΤΜ. ΚΑΡΑΣΟΤΛΑ

ΓΔΛ ΚΑΡΑΣΟΤΛΑ -1*

ΓΤΜ. ΚΡΔ΢ΣΔΝΩΝ -1 -1*

ΓΔΛ ΚΡΔ΢ΣΔΝΩΝ +1 +1

1ο ΔΠΑΛ ΚΡΔ΢ΣΔΝΩΝ -1 -1* -1 -1 -2 -2 -1

ΓΤΜ. ΛΑΛΑ -1*

ΓΔΛ ΛΑΛΑ -1 -1 -1* +1

ΓΤΜ. ΛΑΜΠΔΗΑ΢-ΛΣ -1* -1*

ΓΤΜ. ΜΑΚΡΗ΢ΗΩΝ -1* -1*

ΓΤΜ. Ν. ΦΗΓΑΛΔΗΑ΢ +1 -1* -1*

ΓΔΛ Ν. ΦΗΓΑΛΔΗΑ΢ -2* -1* -1*

ΓΤΜ. ΠΔΛΟΠΗΟΤ +1

ΓΔΛ ΠΔΛΟΠΗΟΤ -1 -1*

ΣΟ * ζημαίνει ζυμπλήρωζη ωραρίου ζε άλλη ζχολική μονάδα

ΣΟ +

-1*

-1

ΠΑΡΑΣΗΡΗ΢ΕΙ΢:
ζημαίνει υπεραριθμία

-1

-1* -1*

-1*

-1*

-1* -1* -1* -1*

-1*

-1*

-1


